PLANTA BAIXA
EDIFICI 1 EDIFICI 2
SUPERFICIES UTILS HB.1 HB.2 HB.3 HB.4 HB.1 HB.2 HB.3
MENJADOR ESTAR| 20,25 19,31 19,65 | 19,09 21,41
CUNA| 748 @ 7,44 2 02 7,12
CUINA-MENJADOR 19,67 23,82
HABITACIO 1| 9,99 952 | 1066 & 10,63 943 | 9,60 10,86
HABITACIO 2| 12,89 12,88 | 6,01 0S8 12,62 12,88 12,88
BANY 1| 472 | 444 | 380 | 446 | 437 | 450 | 530
BANY 2| 2,95 2,95 [ a3 289 | 295 2,95
SAFAREIG| 243 2,46 123 2,40 2,40 2,40
DISTRBUIDOR| 2,86 2,86 4,81 1,65 2,86 2,86 2,85
TOTAL SUP. UTILS| 4 ; 95 : 61,34 62,30 65,77
PORXO[ 16,70 16,69 13,61 19,68 16,42 16,69 16,91
TOTAL SUP. UTIL PORXO| 16,70 16,65 13,61 19, 16,42 16,69 16,91
TERRASSA 1] 51,37 20,34 12,89 9,00 12,99 21,33 43,01
TOTAL SUP. UTIL TERRASSES| 51,37 20,34 | 12,89 9,00 12,99 | 27,33 | 40,01
[PLANTA BAIXA
EDIFICI 1 | EDIFICT 2
| SUPERFICIES CONSTRUIDES | HBA HBZ2 | HB3 | HB4 HB.1 HB2 | HB3 |
[ SUP. CONSTRUDA LOCALS| 7443 71,83 52,70 63,46 70,20 71,87 77,04 =)
~ SUP. CONS. 50% TERRASSES| 26,65 10,27 | 6,63 5,00 6,65 14,03 2.7 SU.=16.70m2 05 /7
SUP. CONS. PORXO| 16,94 16,71 13,89 192 16,44 | 16,79 17,20 i —E
SUP. CONS. LOCAL| 70,09
[ SUP. CONS. SERVEIS COMUNS| 212,61
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